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O (4x+2) (4x+3) @ (2x+4y)?
® (3x—7Ty)* @ (9x+5y) (9x—5y)
® (-8 —-2y)? ® (6+3x)(6—3x)
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®© 202x198 @ 294

® 303 @ 197 %205
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O (4x+2) (4x+3)
= (4x)%+ (2+3) x4x+2x3
=16x*+20x+6
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® (Bx—T7y)°
= (3x)?=2%XTyx3x+ (7Ty)*?
= Ox? — 42xy + 49y°

® (—8x—2y)?
= (—8x)?—2%X2yx (—8x) + (2y)°
= 64x” + 32xy + 4y*

KROXZELTRLTEELZ S,

@®© 202x198
= (200+2) (200—2)
=200°— 2
= 40000 — 4
= 39996

® 303
= (300+3)*
=300*+2x3x300+3*
=90000+1800+9
=91809
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@ (2x+4y)?
= (2x)%+ 2 x4y x 2x + (4y)*
=4x"+ 16xy + 16y*

@ (9x+5y) (9x—5y)
= (9x)*— (5y)*
=81x*— 25)°

® (6+3x)(6—3x)
=6°— (3x)°
=36 — 9x

@ 294
= (300-6)*
=300%—2 % 6 % 300 + 6
=90000 — 3600 + 36
= 86436

@ 197%205
= (200-3) (200 +5)
=200°+ { (=3) +5} x200+ (—3) x5
= 40000 + 400 - 15
= 40385
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